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Red deer 3 v 1 21y F)—=o1 1 2 v 0 TLo0-FH-X
RUAMOKO RED 2 vs 9 LYHE—Z 1 v 3 SWEETIE LADY BEARS
B T % A%AZULONE A 1 v 4 Chie&ifiR & HRI%=5 & B—Xh 1 v 4 RUAMOKO BLACK
Red deer(2Jb%) 1 v § Red deer(337) BEAI—avX 2 v 1 S&T (J9&A )
Red deer(2JL%) 0O v 3 &oZF V=7 Red deer 1 v O BANAD
Red deer(3a7) 5 v 3 SWEETIE LADY BEARS 1 v 2 & ZAL&L
B T3 A% AZULONE A 3 v 6 RUAMOKO BLACK & B—FhA 4 vs 6 ChieX itk L (P R7=5
RUAMOKO RED 3 v 4 S&T (U2 EA ) 2 v 1 S&T (JI&A )
2L 9)=9Th 2 v 1 BEAHDAD 1 v 2 &, ZAL&L
Red deer(2JL%) 0O v 3 Red deer(337) LYHE—X 3 v 1 S&T (U2 &EA)
Red deer(Z/b%) 2 v 0O b T S&T (JI&A ) 3 v 1 BEAAAD
Red deer(3377) 2 v 1 &oTFV1=7 O v 5§ RUAMOKO RED
B T3 A %AZULONE A 5 v 4 &, B-Fh RUAMOKO BLACK 3 v 6 ChiekifitR&: RIS
HEAI—aVX 2 v 1 Red deer &, ZAL&L 2 vs 9 LYHE—X
ILy0-5H—X 1 v ( 21y GY=orIT SWEETIE LADY BEARS O v 2 S&T (FU&A)
BANAD 3 v 1 At B Red deer O v 5§ B T A$AZULONE A
219 G)—ooTh 4 vs 9 SWEETIE LADY BEARS S&T (JI&A ) 2 v 2 RUAMOKO RED
BEEAT—OVX 1 v 2 LHHE—-X IL70-F5H—X 1 v O S&T (¥ EA)
ChiekifitR&: RIS H v 3 RUAMOKO BLACK R T3 X %AZULONE A 3 v 3 &, B-Fh




